The Boy in the Striped Pajamas
Novel to Film Adaptation Project and Presentation Rubric
7th Grade Reading
Major Grade: 65 points 

Project:

________ Historical background (10 points)
		Connects to the correct time in history
		Explains relevant historical facts in connection to the film  

________ Compare and Contrast (10 points) 
		Three examples (novel to film)
What mediums are used in the film that enhances the differences? (i.e. lighting, choice of actors, sound, color, camera focus/angles) Explanation of the differences is clear and thorough 
		Use of visuals to enhance the comparison 

________ Essential Question (10 points) 
Demonstrates an understanding of the essential question- “What makes a film adaptation of a novel effective?” 
Explanation of why or why not is thorough, specific, and detailed 
		
________ Effectiveness (5 points) 
		Stance on whether the film was effective or not is made 
		Explanation of why or why not is thorough, specific, and detailed 

_________ One Word Summary (5 points)
		Properly summarizes the novel
Connection to the novel and a thorough explanation of why is provided   to support choice of word 

________ Works Cited (5 points) 
		Properly formatted
		Includes ALL types of sources (even pictures and videos!)

Presentation:

________ Composure, voice/ tone, attitude (10 points) 
		Individual is composed in front of the audience
		Voice is a proper volume; tone is clearly understood 
		Appropriate attitude is demonstrated 

________ All group members speak
 	     All group members participate in preparation of the project (5 points) 

[bookmark: _GoBack]________ Use of PowerPoint (5 points) 
		Creativity
		Detailed
		Effort
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